

$(ab)^n = a^n b^n$ (n is a natural number.)

n 이 자연수일 때, $(ab)^n = a^n b^n$
($(ab)^n = a^n b^n$ (n is a natural number.))

$(ab)^n = a^n b^n$ (n is a natural number.)

▶ Start

$(ab)^n = a^n b^n$ (n is a natural number.)

▶ Start

$$(ab)^n$$

$(ab)^n = a^n b^n$ (n is a natural number.)

▶ Start

$$(ab)^n = \underbrace{ab \times \cdots \times ab}_n$$

$(ab)^n = a^n b^n$ (n is a natural number.)

▶ Start

$$\begin{aligned}(ab)^n &= \underbrace{ab \times \cdots \times ab}_n \\ &= \underbrace{(a \times b) \times \cdots \times (a \times b)}_n\end{aligned}$$

$(ab)^n = a^n b^n$ (n is a natural number.)

▶ Start

$$\begin{aligned}(ab)^n &= \underbrace{ab \times \cdots \times ab}_n \\ &= \underbrace{(a \times b) \times \cdots \times (a \times b)}_n \\ &= \underbrace{(a \times \cdots \times a)}_n \times \underbrace{(b \times \cdots \times b)}_n\end{aligned}$$

$(ab)^n = a^n b^n$ (n is a natural number.)

▶ Start

$$\begin{aligned}(ab)^n &= \underbrace{ab \times \cdots \times ab}_n \\ &= \underbrace{(a \times b) \times \cdots \times (a \times b)}_n \\ &= \underbrace{(a \times \cdots \times a)}_n \times \underbrace{(b \times \cdots \times b)}_n \\ &= a^n\end{aligned}$$

$(ab)^n = a^n b^n$ (n is a natural number.)

▶ Start

$$\begin{aligned}(ab)^n &= \underbrace{ab \times \cdots \times ab}_n \\ &= \underbrace{(a \times b) \times \cdots \times (a \times b)}_n \\ &= \underbrace{(a \times \cdots \times a)}_n \times \underbrace{(b \times \cdots \times b)}_n \\ &= a^n \times\end{aligned}$$

$(ab)^n = a^n b^n$ (n is a natural number.)

▶ Start

$$\begin{aligned}(ab)^n &= \underbrace{ab \times \cdots \times ab}_n \\ &= \underbrace{(a \times b) \times \cdots \times (a \times b)}_n \\ &= \underbrace{(a \times \cdots \times a)}_n \times \underbrace{(b \times \cdots \times b)}_n \\ &= a^n \times b^n\end{aligned}$$

$(ab)^n = a^n b^n$ (n is a natural number.)

▶ Start

$$\begin{aligned}(ab)^n &= \underbrace{ab \times \cdots \times ab}_n \\ &= \underbrace{(a \times b) \times \cdots \times (a \times b)}_n \\ &= \underbrace{(a \times \cdots \times a)}_n \times \underbrace{(b \times \cdots \times b)}_n \\ &= a^n \times b^n = a^n b^n\end{aligned}$$

$(ab)^n = a^n b^n$ (n is a natural number.)

▶ Start

$$\begin{aligned}(ab)^n &= \underbrace{ab \times \cdots \times ab}_n \\ &= \underbrace{(a \times b) \times \cdots \times (a \times b)}_n \\ &= \underbrace{(a \times \cdots \times a)}_n \times \underbrace{(b \times \cdots \times b)}_n \\ &= a^n \times b^n = a^n b^n\end{aligned}$$

∴

$(ab)^n = a^n b^n$ (n is a natural number.)

▶ Start

$$\begin{aligned}(ab)^n &= \underbrace{ab \times \cdots \times ab}_n \\ &= \underbrace{(a \times b) \times \cdots \times (a \times b)}_n \\ &= \underbrace{(a \times \cdots \times a)}_n \times \underbrace{(b \times \cdots \times b)}_n \\ &= a^n \times b^n = a^n b^n\end{aligned}$$

$$\therefore (ab)^n =$$

$(ab)^n = a^n b^n$ (n is a natural number.)

▶ Start

$$\begin{aligned}(ab)^n &= \underbrace{ab \times \cdots \times ab}_n \\ &= \underbrace{(a \times b) \times \cdots \times (a \times b)}_n \\ &= \underbrace{(a \times \cdots \times a)}_n \times \underbrace{(b \times \cdots \times b)}_n \\ &= a^n \times b^n = a^n b^n\end{aligned}$$

$$\therefore (ab)^n = a^n b^n$$

$(ab)^n = a^n b^n$ (n is a natural number.)

▶ Start

$$\begin{aligned}(ab)^n &= \underbrace{ab \times \cdots \times ab}_n \\ &= \underbrace{(a \times b) \times \cdots \times (a \times b)}_n \\ &= \underbrace{(a \times \cdots \times a)}_n \times \underbrace{(b \times \cdots \times b)}_n \\ &= a^n \times b^n = a^n b^n\end{aligned}$$

$$\therefore (ab)^n = a^n b^n$$

$(ab)^n = a^n b^n$ (n is a natural number.)

▶ Home

END